
61 mm²      =       ........................................................................................................     cm²

4 weken      =       ........................................................................................................     dagen

26,3948 L      =       ........................................................................................................     cL

80,01 cm³      =       ........................................................................................................     mL

51,179 m³      =       ........................................................................................................     hL

19,706 dm³      =       ........................................................................................................     L

335 km²      =       ........................................................................................................     m²

35 dam²      =       ........................................................................................................     m²

26,068 hm²      =       ........................................................................................................     dm²

901,7 mm²      =       ........................................................................................................     cm²

114 L      =       ........................................................................................................     cL

86,9 cm²      =       ........................................................................................................     dam²

596,6 dm³      =       ........................................................................................................     L

36,9469 cL      =       ........................................................................................................     mL

141,0531 cL      =       ........................................................................................................     mL



61 mm²      =     0,61 cm²     (komma 2 x 1 plaats naar links)

4 weken = (4 x 7) dagen  =  28 dagen

26,3948 L      =     2639,48 cL

80,01 cm³      =     0,08001 dm³      =     0,08001 L      =     80,01 mL

51,179 m³      =     51179 dm³      =     51179 L      =     511,79 hL

19,706 dm³      =     19,706 L

335 km²      =     335000000 m²     (komma 2 x 3 plaatsen naar rechts)

35 dam²      =     3500 m²     (komma 2 x 1 plaats naar rechts)

26,068 hm²      =     26068000 dm²     (komma 2 x 3 plaatsen naar rechts)

901,7 mm²      =     9,017 cm²     (komma 2 x 1 plaats naar links)

114 L      =     11400 cL

86,9 cm²      =     0,0000869 dam²     (komma 2 x 3 plaatsen naar links)

596,6 dm³      =     596,6 L

36,9469 cL      =     369,469 mL

141,0531 cL      =     1410,531 mL


